LECTURE 22 HW DY W e W haard oA pupkat

ﬁ\du%o
Cioy fctigna,
WWWNWW?@WW-‘
l - C—C 2 TeN
v TE 2 WM %M%@

5W\Mﬁm/ﬁ%, (‘/O\Ajl/\fajjw\/\/wv F=rUz): otbyz > a-Wz

We tunatiy wee the Jown “audvorpliom e oeovde &

Ufa (Drovp atlinn)  Quvpuation € agoup & ora et S
/M/@AWW Gx§S —S (ta denotc W(]L
5 g 5 G

e o |¥s=5 Y seS
C L adiin e aatocistint: (997065 - 949 k)

The cetian %'&{3MMMW on lpe dten Lﬁ?r:g — S
Si—*”é/g

@Wﬁuﬁﬂ& % o loyurve ap?



Orbits § Stalpilisers
et 5 (3S. &@L Imaging  Zfzp O @%b«a [qo(/\wz)
re S OV glabe (splune)
dfn. Fixon dament SES TThe ovbit 6f § s
(h=]seS | s'=9¢ 4o somu geQy <

e O = ol pitin$ oot ane velatid o s by +oe duhan

o G, J@\QWWM WW%M CALh. VbA-
Lo WW o 28 i olonie el atimn
Thowfore © T seb ob oloits o 40w ochin 55 63 S

¥ w?mmﬁrg-
e ol ane 1, S poled, Lirew m) atitnole
< g

% (Wt abont gvbits o Z/zp %u?
difn. Tha SHabilne o & b Hou Set v grecp tlehewty Fhot

X S GS:Z%eg\%&:s} < G

Uacn Gg at o subponp 0 @ Wha? el Jd, jnrean, closws

2. |

Dol SOglte Gy oy S Bt 6= [1) I oy pFON
D TemRD ORY Gy =00

D Soblize 5 0 i Sa 3, onY e ¥ S



Propudieg 57 Gamgp Athimo 65 baatd on olot /cimbi i

dxfns
L ¥ GAS w@\M L Angle bt 4ot wasna o XS5l €S
Huauw w QWW wukmj\\/jm S g

@ The actwn 6T GRS 6 fret
VseS,  4s=s iF 9=
(e ket ettty Akew glimendt

In stiee wsdo GRS w et i geS, Gg=14).

Ckamplew
(O dzy & W het nee (gl 4 fiy N

het Danactwe (bl ws O pbU )
D Tem(RD G petfae s og T[0)70, but TFL
Namortwe 24, Toon () = b
B He= adgwrp st TLThm(RY) vl hevwtal Dandatims.
fee 4,(p) = p I V=D
pet Tranactive L oS one 40w (v 0] 0otz
ywwﬂwote
B GxG -6 Pt @nde Dano it
Tont\Lepaton Skip: Prove Hlnl




Remande: oy conpoitond to pLcliar dpmud wbat Set Gow an
g S' O powt mmdle globe, o Hhp L od laokids
v U S et o] Agin Tt plant,

< Stodo vt a_ parheudan %MMM Aw Ty
©owd o powds 1 Hhio A puen 'l
(othamnet o oatey 2lumond indastab |l bs Lo

\ - i ) - y a2 / -
Vowsn  Dovinwe that autien @V'é O Lr AN T B Lach oVl t U\fﬂmﬁ,)

M& wt G S, 5eS G =stabiliv ot s
W) [ abeh, Hhan as=bs @ abely ,iff beab,

() SW s'zas  Tha O wm‘%\%&m@% &s

Gg = aGgat = Lgeﬁ | a=olaa” Hrsome het Y
P
(@) 10 tow: OS=bs | a'bs=s
) Gy2absa:
£ ge0bea ) Hhan g= aha o svnn nely .
Than as'= (aha dlas)=ahs = ag=s"

bt & aGsat
Sne s=a's’, a’Gga € G hytha sam O wsnent

= G < absa’
12!



